24 AAO—FL—RAUIBNAFUFL—RXD 1)

[BBF]101.5km

6H18H(A)9:30

IEGZ | No. EA:1] FE | B4 FRA Total Time |FHHE
1 23 AR 8 E 3 EF RE[E = 28%385319%) 385
2 51 B RES 2 Wfz  FEALSR  28538425%) 385
3 60 &) 5 3 &E  FEAN 2B5385325%) 385
4 15 fERR XF 2  TH pN::i] 205384 25%) 385
5 9 I\KRE KK 3 FHH FHwHE 26538426%) 385
6 63 SHEE 3 &5 EIE 285384526F) 385
7 36 I HEE 3 =i mIT 20%3845726%) 385
8 59 = H B 3 ®E  FEAN 285385726F) 385
9 55 AEF B 2 BB BREZF 28%385726F) 385
10 32 IND BB 2 =371 Rt 2/%384726F) 385
11 54 fERK BR 3 ®E BREF 28%3845726F) 385
12 3 &E AR 3 EHFH I\FI 20538426%) 385
13 62 HR—®& 3 &5 E£IE 2B5385726F) 385
14 61 I =R 3 ®E FEA 205385 27F) 385
15 5 ¥ BEREEE 3 BH /N\FIK— 2B§38427% 385
16 52 2iE X 3 1&B EHE 285385727%) 385
17 37 ER R 3 =i mIT 28%385727F 385
18 58 ik X 2 &5 1EEA 285385278 385
19 28 #wmARAR 3 BF KREE® « 28F384727F) 385
20 46 AR X 3 Wiz FALERE 28538427 385
21 45 B ER 3 iRz FhLEE 2mE38428F 385
22 31 X —1E 3 = Rk 20%384728F) 385
23 33 & sh#t 2 =874 it 28%3845728%) 385
24 8 HH e 2 FHH FHLHE 20%38428%> 385
25 27 =i Bt 3 EF X8 2/%384728%) 385
26 6 #=H XY 3 &HHF /NFIKX— 28§38%r287) 385
27 1 INEGEF B 3 EFH I\FI 28538428%) 385
28 38 =18 RN 3 =374 mIT 20%384729%) 385
29 24 EPARIEE 3 B2F EE#HRSE 20%385)29%) 38.5
30 34 FHEN 2 = =y 2053843 30F) 385
31 14 KR K& 2 ®H K= 20%384730%) 385
32 66 E\fE E 1 BE BXEIE 28385730%) 385
33 2 pNIIR-PS 3 EE I\FI 285385034F) 384
34 30 FEEK 3 EF KRES 285387357 384
35 29 IR Fon 2  BF KREE® « 2838736FF 384




36 22 i mth 3 EF B2 2M5385r36F) 384
37 26 TEiL B/ 2 EBF EKEKHRE 20%385r38%) 384
38 53 whia gEfR 3 ®E BREF 2053847 38F) 38.4
39 64 LaoXE 2 &5 TTH 285405351F 379
40 49 T A0 3 L KiRT 285415328 37.7
41 65 JERE R 3 &5 BXEILE 28415729F) 377
42 16 BRIk 15— 3 Tm BEXEE 2654153 32%) 37.7
43 44 X0 &% 1 Wiz HEME 28%42419% 375
44 56 INE 1B 3 w5 1EEA 2854357 27F) 37.3
45 25 BB hAL 2 BF EKEKHRE 285455343%  36.8
46 42 FH K 2 = {[1T5= 28545548 36.8
7 HH ki 2 = EHF#HWLA 1 Lap 36.3
47 RE % 3 IR FLEE 4 Lap 36.3
21 it &A1 2 ®H AY: | 5 Lap 38.3
20 FiES Rt 2 ®H AT | 6 Lap 36.3
17 Rk I5E 3  ®H HEREE 8 Lap 36.4
19 A = 3 ®H AT | 9 Lap 35.4
12 KAR BE 2 FH AT 9 Lap 34.7
50 ERKEAN 2 L XKRT 10 Lap 36.6
4 Bl &5 3 FH# /N\FIK-— 10 Lap 36.2
35 AREEZE 1 =371 =g 10 Lap 35.8
11 RFE £X 2 = +Ff#EAT 10 Lap 35.6
39 =iE 2 BH GllFE 11 Lap 35.2
48 =5 & 1 WL FRT 11 Lap 35.2
13 Rk = 3 ®H pN::if 11 Lap 34.0
43 INE B 2 Iz #FHEEE 12 Lap 35.1
18 Rk 2  TH ] 12 Lap 345
57 INEF K& 3 &5 &8 13 Lap 38.3
10 BE & 3 FH FHmEE 15 Lap 38.0
40 M G 2 =W /DHFHEEMK 16 Lap 342
41 ERK K 2 B DFHER 17 Lap 31.2




KR LIFEEHY

[Z& F140.6km 6H18H(H)9:31
IEGZ | No. EA:1] FE | B4 FRA Total Time |FHHE

1 9 =ik £ 3 =i mIT 1#:13401% 334
2 2 gk T8 3 & EFHREX 185165 24F) 31.9
3 11 =18 thk 3 Wiz FEME 18177318 314
4 10 fERK =8B 1 = T 185195 43F) 30.6
5 1 it B 3 FH FHEE 1852253065 297
3 INE KT 2 FH FHEEE 3 Lap 278
8 Rk BE 1 (=357 i 3 Lap 27.7
5 HH BF 3 EBF ) 3 Lap 276
6 +% Fia 1 =F BEE 2 3 Lap 276
7 NEF BE 1 &F BT B 3 Lap 276
DNS 4 A EHE 1 FLHEH AY: | DNS -




